
仮想的な前回のPCM値(0)

一回目のPCM出力値(174)

増加方向の予測変化量(+202)

減少方向の予測変化量(-202)

174+202=376

174-202=-28

ADPCM値= 4 : 174+202× 9÷8= 401

ADPCM値= 5 : 174+202×11÷8= 451

ADPCM値= 6 : 174+202×13÷8= 502

ADPCM値= 7 : 174+202×15÷8= 552

ADPCM値= 0 : 174+202× 1÷8= 199

ADPCM値= 1 : 174+202× 3÷8= 249

ADPCM値= 2 : 174+202× 5÷8= 300

ADPCM値= 3 : 174+202× 7÷8= 350

ADPCM値= 8 : 174-202× 1÷8= 149

ADPCM値= 9 : 174-202× 3÷8=  99

ADPCM値=10 : 174-202× 5÷8=  48

ADPCM値=11 : 174-202× 7÷8=-  2

ADPCM値=12 : 174-202× 9÷8=- 53

ADPCM値=13 : 174-202×11÷8=-103

ADPCM値=14 : 174-202×13÷8=-154

ADPCM値=15 : 174-202×15÷8=-204


